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(A FE 0] yol) = (Y] Wol) - (AP <] Wol)
=12x12x3.14-24x12+2
= 452.16 — 144 = 308.16( cm?)




(Fe] Wol) + (2Fe] Wel) O (7he] wol)

(e wel) + (he] Hol)
:6><6><3.14><%+4.5x4.5x3.14x%

= 56.52 + 31.7925 = 88.3125( cm?)

(7Fe] Wol) = 7.5 x 7.5 x 3.14 x % = 88.3125( cm)
whebA] (Le] Wol) + (the] Heol) = (712 Wel) duith
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=314+314+2=5(cm)

(¥ @9 W25 4o)

=25.12+3.14+2 = 4(cm)

(9 @t 4 @2 Holol 2

=5x5x3.14-4x4x3.14

— 78.5 — 50.24 = 28.26( cm?)
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471 +3.14 = 15(cm)
15+2 ="7.5(cm)




-
o
_l>~
i)
s
4
M

o] =89 ZolE FotA L.

(2 99 9F) + (%S 9] 97
24 x3.14 + 8 % 3.14 = 75.36 4 25.12
= 100.48( cm)
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(AE°l 10em?] H)+(AEF°l 5emel )+ (AFol 15cme 9)
= (10 x 3.14) + (5 x 3.14) + (15 x 3.14)
= 314+ 157+ 47.1 = 94.2(cm)
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D 100.48cm? @ 125.16cm? ® 134.16cm?

@ 148.56cm? (@)175.840m2
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(7F 99] Wol)= 9 x 9x 3.14 = 254.34( cm?)
(U 2] Hol)=5x5x3.14 = 78.5(cm?)
o2kA F 99 Yol A=

254.34 — 78.5 = 175.84( cm?) YUY}
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@9] A5 9x2=18(cm)
O AE : 15(cm
©9 A& (AE)x3.14 = 37.68

(Z&) x
(A1) = 37.68 + 3.14 = 12( cm)
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24 x 2% 3.14%x 5 = 753.6( cm)
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4x4%x314+7x7x3.14
= 50.24 + 153.86 = 204.1( cm?)




